UL Bic {4

i FB I 4% 5E AT 14
I FETERITE(CSE
C IlN ) - ( T D) - ( 0|7 D)
| T | BRI BamFE |
[ [ [
IB : HEFE(DMBASIA) 4:M4 07:0.7mm
IN @ SRR AREY) 5:M5 08:0.8mm
I (R 6:M6 10:1.0mm
IDCK: I#88(DCK40~63 ) 8:M8 125:1.25mm
10:M10 15:1.5mm
12:M12 20:2.0mm
m E#E
12
N
ﬁ;
i -
1
! —_—T
I
i
KK

it @D F G KK V]

INM407 3.3 21 28 M4x0.7 9 3.1

INM508 5 25 32 M5x0.8 14 6.4

@D arﬂ_'.i

| ]

/| HaT
(U] 1

: [ﬁj w

: L

i Ll

——

Bugs @D F G KK T U oV
INM610 24 31 M6x1.0 9 12.7
INM8125 32 42 M8x1.25 11 16
INM10125 10 40 52 M10x1.25 13 10 19
INM1415 10 45 57 M14x1.5 13 14 25.4




UL Bic {4

Bhim A IIZSERC
1)
m o0
|
|
A
I
! ]
|: | :I
oV
B C @D F G KK T U oV
IM10125 20 10 40 50 M10x1.25 15 10 20
IM12125 20 12 48 62 M12x1.25 24 12 24
IM1615 30 16 64 82 M16x1.5 32 16 32
IM2015 35 20 80 102 M20x1.5 40 20 40
IM2720 40 30 110 155 M27x2.0 50 30 55
B DMB#A5H
U
|
mm
o
Elnn
| Q
| @
|
|
1
KK
B @D F G KK T U oV R
IBM10125 10 30 40 M10x1.25 16 14 20 12
IBM1415 10 40 50 M14x1.5 19 14 22 12.5
IBM1815 14 50 64 M18x1.5 24 20 28 16.5
IBM2215 22 60 80 M22x1.5 34 30 40 23.5
IBM2615 22 60 80 M26x1.5 34 30 40 23.5
B DCK2%%IA (340~63)
20
@12H8
/\/\V
4-M6 F11
NP o
10 ]
NN NI
o LTOr DT
. I
| |
17 17
\
230 ‘ 20




